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T X HT 4 T = LA MR lES T % I = H & M
FEIX 0.2 2.1 0.0 0.9 -1.9
143, 800 423,700 91, 000 250, 100 10, 600
23 22 15 15 1 1 39 38 1 1
A X 0.1 0.5 -1.3 0.0
114, 500 193, 100 85, 700 134, 600
16 15 8 8 3 3 27 26
KX -1.4 -0.5 -1.0 -1.1
85, 200 127, 900 63, 600 92, 700
22 21 8 8 4 4 34 33
R Rt -0. 4 1.0 -1.0 0.0 -1.9
115, 000 287, 900 75, 300 165, 400 10, 600
61 58 31 31 8 8 100 97 1 1
GETFS 0.5 T.1 0.7
91, 700 188, 900 133, 000
23 23 17 17 40 40
X 0.0 0.3 0.0 0.0
70, 900 98, 300 53, 900 75, 900
9 9 3 3 1 1 13 13
THIxX -2.0 -2.8 0.3 -1.9 -1.1
53, 600 67, 000 33, 000 54, 000 930, 000
11 11 2 2 1 1 14 14 1 1
X -2.9 0.0 -0.7 -2.5
52, 200 81, 000 41, 000 53, 600
11 11 1 1 1 1 13 13
E[azs -1.1 -1.0 -1.0 -1.1
35, 000 52, 100 41, 200 597, 000
7 6 4 4 11 10 2 2
EALX -0.4 0.0 -0.3
60, 900 85, 300 64, 300
6 6 1 1 7 7
KX -2.4 -2.0 -2.3 -1.1
11, 500 26, 300 15, 500 28, 000
8 7 3 3 11 10 1 1
VAR T 3 -0.9 0.1 -0.1 -0.6 -1.1
61, 500 132, 000 42, 600 81, 000 538, 000
75 73 31 31 3 3 109 107 4 4
BEET -2.6 -2.8 =0.9 -2.6 0.0
84, 700 171, 200 52, 300 104, 100 550, 000
25 25 8 8 1 1 34 34 1 1
EIfGE -0.8 0.0 =0.5 0.0
54, 700 117, 300 71, 700 163, 000
8 8 3 3 11 11 1 1
=B 0.3 0.5 0.3 0.0
105, 900 203, 800 133, 900 1, 200, 000
10 10 4 4 14 14 1 1
B L -1.5 -1.0 =0.9 -1.4 0.8
39, 200 72,900 28, 800 43,700 482, 500
26 25 5 5 2 2 33 32 2 2
P -1.4 -1.1 -1.3 =0.7
34, 800 92, 600 70, 900 145, 000
3 3 5 5 8 8 1 1
Emm -1.3 2.7 =0.9 -1.6 1.1
52, 600 62, 200 31, 700 53, 700 465, 000
11 11 4 4 1 1 16 16 1 1
Rt 1.1 -1.3 =0.6 1.1 -1.3
64, 700 86, 100 39, 500 68, 200 368, 000
34 33 10 9 2 2 46 44 1 1
UE -1.4 =2.0 0.0 -1.5 1.1
47,100 63, 600 21, 000 50, 000 890, 000
18 17 6 6 1 1 25 24 1 1
BEEE T 2.7 5.7 =3.0
53, 600 61, 100 54, 500
15 15 2 2 17 17
BT =2.0 2.1 2.1 2.1 —2.4
43,700 68, 500 27, 400 50, 600 880, 000
12 11 6 6 1 1 19 18 1 1
JEEEL T -0.3 =0.6 -1.1 0.4 ~1.0
60, 800 76, 400 45, 000 63, 600 201, 000
16 15 5 5 1 1 22 21 1 1
TR T 0.2 0.8 1.9 =0. 1 -1.5
67, 500 96, 200 26, 900 66, 500 260, 000
10 10 1 1 1 1 12 12 1 1
Rl -1.2 -0.9 0.0 -1.1
39, 500 52, 400 35, 200 42, 400
8 8 3 2 1 1 12 11
THh =0.5 =0.5 =0.5
55, 100 92,100 67, 400
2 2 1 1 3 3
T 0.2 0.0 =0.7 0.3 0.8
75, 800 120, 000 41, 200 76, 800 123, 000
8 8 1 1 1 1 10 10 1 1
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T X HT A 44 £ F H i LA Hi EHE A E S PR Hb
TG -1.2 -1.5 =0. 4 1.1 =3.7
47, 200 81, 000 24, 200 48, 500 1, 040, 000
6 5 1 1 1 1 8 7 1 1
e 2.9 2.1 -2.6 0.0
37, 500 60, 500 45,900 41, 000
7 7 4 4 11 11 1 1
TR i 2.7 =0.7 -2.3 -2.6
15, 800 26, 800 18, 000 370, 000
4 4 1 1 5 5 1 1
51 =0.9 -1.2 -1.0
28, 100 63, 400 36, 900
3 2 1 1 4 3
FOOET =0.5 =0.2 0.4
67, 700 96, 100 76, 200
7 7 3 3 10 10
W2 R T 2.7 =3.14 -2.5 =2.9 -1.8
33, 800 39, 800 19, 500 33, 400 1,070, 000
3 3 2 2 1 1 6 6 1 1
GR = -1.4 -1.5 =0.7 -1.4 -1.2
57, 800 92, 300 32, 900 64, 800 513, 600
236 229 76 74 14 14 326 317 17 17
B e izl 1.1 0.6 =0.7 -1.0 -1.2
67, 900 145, 200 47,600 86, 900 495, 200
372 360 138 136 25 25 535 521 22 22
EREEA) =2.0 -1.8 -1.9 -1.0
36, 200 65, 000 45, 800 104, 000
2 2 1 1 3 3 1 1
A FERT -1.0 -1.2 -1.0 0.0
25, 200 42,900 31, 100 30, 000
2 2 1 1 3 3 1 1
A Gt LT 2.2 -2.2
16, 600 16, 600
2 2 2 2
TR T -3.5 -3.5 -3.5
25, 700 54, 500 35, 300
2 2 1 1 3 3
TGOt ST =3.2 —3.1 —3.1
29, 000 50, 000 33, 200
4 4 1 1 5 5
Pl e W 0.3 0.0 0.3 0.0
95, 200 111, 000 97,900 490, 000
5 5 1 1 6 6 1 1
15 KT 0.1 -0.7 -0. 1
113, 100 135, 000 118, 600
3 3 1 1 4 4
E RHT 0.7 0.7 0.7
106, 800 135, 000 112, 500
4 4 1 1 5 5
NI -1.3 -1.0 -1.3
35, 300 50, 500 37, 200
7 7 1 1 8 8
B0 0.6 7.2 =2.0
40, 700 32, 300 37,900
2 2 1 1 3 3
TIARART =2.2 0.0 -1.38
11, 600 27, 500 14, 800
4 4 1 1 5 5
F “1.7 -1.0 -1.4
29, 200 40, 000 32, 800
2 2 1 1 3 3
TSR] 1.2 1.7 -1.3 0.3
51, 300 67, 600 54, 900 208, 000
39 39 11 11 50 50 3 3
Py = 1.1 =0.7 =0.7 -1.0 1.1
66, 300 139, 500 47, 600 84, 200 460, 700
411 399 149 147 25 25 585 571 25 25
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